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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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Section : Part A
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Ans X 1. 3/7 (bc)
V2 -2/13 C)\
X3 2/13 A\

X4 -7/3 Qa
0: Question ID : 96234010402
& Status : Not Answered

Q Chosen Option : --
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Ans xl iz—f
X2 st

X3 BE
v B4

Question ID : 96234010338
Status : Answered
Chosen Option : 4
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Ans x1~ 10
X238
X309
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Question ID : 96234010399
Status : Answered
Chosen Option : 4

Q@4 RK Narayan is famous for his book .
Ans X 1. Two Lives

#< 2. The Toom on the Roof

/< 3. A Suitable Boy

+ 4 Malgudi Days

Question ID : 96234010332
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.5 Velocity ratio of simple machine is the ratio of distance travelled by the to the distance travelled by the in
the machine.

Ans 1. effort; effort &

W 2. effort; load ()

/%< 3. load; load (b R
&

X 4. load; effort 2
C)\ Question ID : 96234010359
« Status : Answered

Chosen Option: 2

called the of the object.

Q.6 Ifstraight lines are drawn from various points on the contour of QQ meet a plane, the figure obtained on the plane is
Ans 2 1. animation @

X 2. development 0

/< 3 dimensioning

« 4 projection

Question ID : 96234010346
Status : Answered
Chosen Option : 4

Q.7 A e e B9E (w80 TN (NG AN AEAE 240 49 A 3 B H WENSE S 6@
S X+ 2 3 x JF AE F97?

Ans of 1.1
X2 4
X3 2
X 45

Question ID : 96234010394
Status : Answered
Chosen Option: 1
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Q.8 x a7t v 9% AACH WP 4 ¢ 7; [oF qUH AT OIWH TICA SEPTS RET 1 2; SIGA SEAE AE0E
TEFT Fo (Y - X )7?

Ans x1~ 3
V29
X375
X 46

Question ID : 96234010400
Status : Answered
Chosen Option : 2

@9 g 5,7, 9, 11, 6, 10 a9 AT Fo 7
Ans X110

V28

K39

Xar

A
0®stion ID : 96234010396

0 Status : Answered
Chosen Option : 2

Q.1
o APEG o FT 2 i \(b

Ans X 1.
Joint Program Executing Group (BFT, afEfFeity se7)

v 2
Joint Photographic Experts Group 1% HEEhe 9FTh FT)

X 3 «0
Joint Program Experts Gr (ST (A A=A 557T)

X 4
Joint Program Experimental Group (3&® (I AFCIAEGR 555)

Question ID : 96234010358
Status : Not Attempted and Marked For Review
Chosen Option : --

@7 Which of the following options does not have an SI base unit?
Ans 1. Electric current

/< 2. Luminous intensity

« 3. Frequency

/< 4 Amount of substance

Question ID : 96234010336
Status : Not Attempted and Marked For Review
Chosen Option : --




Q.1 95 TrEFfes ©ATe, 295 NN "water is liquid’, 549 WG ‘oil is liquid 995 824 WG ‘oil on water’|
2 ‘on’ FUMGH M@e (F1

Ans X1 g
X2 4
X3 2
v 8

Question ID : 96234010405
Status : Answered
Chosen Option : 4

U 2016 E e ST oFe AT E foreee?

Ans x 1. 3
X2 4
s 2
X 45
5Question ID: 96234010326
0 Status : Answered
Chosen Option : 1
Qli1ﬂ$ﬁﬂ1@20(ﬂt$@400m3ﬂ@_3?ﬂ$(ﬁl9ﬂ@ﬁﬂ_§9ﬁ%(k ) T w=a

Ans X1 124 C)\
X 2108 Q

W3 72

X 4 36 QQ
@ Question ID : 96234010369
Status : Answered
Chosen Option : 3

&7 The volume of a given amount of water between 0° C to 4° C.

Ans  of 1. decreases
/< 2. remains constant
/X 3 is zero

/< 4 increases

Question ID : 96234010341
Status : Answered
Chosen Option: 1

061 9Ff6 (AT AT AR 4G 7 om W ORE O AR JEOEA WW I ¢ (¥F W = 22/7)

Ans X1 616 cm?

v 2 308 cm?




X 3924 cm?
X 4154 cm?

Question ID : 96234010383
Status : Answered
Chosen Option : 1

Q.1 Anarticle was sold for ¥12,000. Had a discount of 15% been offered, a profit of 2% would have been made. What was the
7  costprice?

X 1. 210,800
v 2 210,000
< 3 11,000
X 4 %10.200

Question ID : 96234010379
Status : Not Attempted and Marked For Review
Chosen Option : --
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& Question ID : 96234010353
Status : Not Answered

Chosen Option : --

Q.1 Two resistors of 2 © and 6 Q are connected in series and this combination is connected across a 12 V battery. Find the
Q power supplied by the battery.

X1 14W
X216 W
X3 10W
v 18W

Question ID : 96234010375
Status : Not Attempted and Marked For Review
Chosen Option : --

062 If a body is NOT homogeneous, then its density is a function of its .

< 1. velocity
+ 2. position




X 3. pressure

/< 4 acceleration

Question ID : 96234010342
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.2 fn, '+ sfefEfig =@ » (&, - gfeEg F@ O+ @, % gfeEEg @ e (F a9 L SfelEreg w0
1 &, o@ fffie afseEm am BT w8
g B Rk g £ 2

Ans of 116
X 2 20
X312
X 410

Question ID : 96234010406
Status : Answered
Chosen Option : 1

92 sec 45° — tan 60° = ? &
Ans x.l. —ﬁ—ﬁ 00

v i3+ 42

QQ Question ID : 96234010390

Status : Answered

@ Chosen Option : 3

<

Y e RreusfiE (@ RrNGnEE orss SfE 4@ 99 Sl
Ans X 1. EFG

v 2 HIL

X 3 PQR

X 4 VWX

Question ID : 96234010417
Status : Answered
Chosen Option: 2

02 sHelT oS TREA TN SeAT (F e
X @ S

X 2 93EfSel 3ARSTA

X3 WE (SN F13G (G
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Question ID : 96234010334
Status : Not Attempted and Marked For Review
Chosen Option : --

Qézﬁﬂﬁﬁma TAE fFeT w1 2@ GG 7, 12 a7 15 F TE7 ECf Fewy 23 2

Ans (1. 214
X 2 215
X 3 220
v 4 210

Question ID : 96234010382
Status : Answered
Chosen Option : 4

0.2 . . . . .
o In engineering drawing, the letters LH signifies

Ans X 1. Level Hide 0@

' 2 Left Hand O
/< 3. Limit of Height c:)
/< 4. Low Heat %

*

\ Question ID : 96234010349
« Status : Answered

Chosen Option : 2

Qf Which one of these is a harvest fe
Ans ( 1. Onam

O
& 2. Janmashtami Qﬁ
/X 3. Teej
/< 4 Deepawali

Question ID : 96234010327
Status : Answered
Chosen Option : 1

Q2 Fipg 72 faltw a3l @@AE &fen wra TeeA fiva fifie o= faft s @ AgE 9w
8 faufifis mafba s fir

Expenses Breakup %
Tt
Ly

Salanan
1%
Sntarane
o

Tfii FF EMERG #25,000 W W W 9 TI Fe?

Ans 1. F1,800




X 2 ¥9,000
v 3 2,500
< 4 5,000

Question ID : 96234010416
Status : Answered
Chosen Option : 3

Q.2 protection must be worn whenever noise levels exceed the noise exposure standard.

9
Ans x 1. E}FE
X 2. Foot
« 3. Hearing

/< 4 Head

Question ID : 96234010356
Status : Answered
sep Option: 3

% AT @ sEeT AE JoFA?

Ans . (T
X 2 B T
X 3. SIEFAbA A
V4 ST

03 13 4-SIEF WAT 1xy7

Ans X1 - 2
X2- 4
vi- 6
Xa- 8
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OQQ

Question ID : 96234010335
Status : Answered
Chosen Option : 4

IREIRE R x-y a9 A+ Fa7?

Question ID : 96234010376
Status : Not Answered
Chosen Option : --

Qé3 o el T @ 98T Tw TN W oW e (T OfF WOE b W T W el

i SEffe : ?

Ans Xl ﬁ
v 2 giffe




X 3. SISt
X 4 oy

Question ID : 96234010401
Status : Answered
Chosen Option : 2

Qé3 TG FEA AFE AT FTPEe| e fewsfE aun P et am @t wee e wEE)

1.14, 1.28, 1.42, ?, 1.70, 1.84

Ans of 11,56
X2 1.62
X 3 1,54
X 4 1.68

Question ID : 96234010404
Status : Answered

$Option:1
Q.3 ’JﬁC$DBEWCWD&?{W,C&DﬂaWC’ﬁfDﬂﬁmﬁRC%DWC@ T

4 = TEW S X &Y % Z OF G 7

Ans X 1. Z ¥ W F TSl Q‘)
V27w fer (bc’
X3 Z3x W F Fa C)\

\

X4zagwda3

Q Question ID : 96234010408
Q Status : Not Answered

Chosen Option : --

053 If a body has a specific g‘aﬂty@ﬂlan 1, then it will float in/on .

Ans  of 1. water

/< 2. liquids

< 3. mercury

X 4 air

Question ID : 96234010343
Status : Not Attempted and Marked For Review
Chosen Option : --

%1 kg TEE e 2 m/s (AF 4 m/s TOME FoIrf & T2
Ans of 16 J

X210 J

<38

X412 )




Question ID : 96234010340
Status : Not Answered
Chosen Option : --

% 2018 S (1 SFGIT REER TG (TATA?

Ans X AR (@Efe
v 2 ax ag e

K3 B (ST
X 4 CfiFS sl

Question ID : 96234010331
Status : Answered
Chosen Option : 1

ng@amamﬁﬁemm%rmﬂwﬁ@ﬁ@r aF P T FE

Ans X 1. SiEfE
X2 3RSt 00®

p g} W o
C;Z‘)

( 4. {étﬁ (b
C)\ Question ID : 96234010330
« Status : Not Answered

Chosen Option : --

9

Ans X 1. work 0&0

« 2 time squared

Q.3 A body starts from rest. Its displacement is propo% when its acceleration is constant.

/< 3. velocity
X 4 time

Question ID : 96234010368
Status : Answered
Chosen Option : 4

Q.4 A wire of length 1 and radius r has a resistance R. The resistance of another wire made of the same material but having half
0 its length and half'its radius willbe .

Ans of 1. 2R
X 2 4R
X3 R2
X 4R

Question ID : 96234010372
Status : Not Answered
Chosen Option : --




Q.4 A source of voltage V maintains a current i in a circuit. The energy supplied to the circuit by the source in time t is

1
X1 Vit
X 2 Vit
X 3. 1/Vit
W 4 Vit

Question ID : 96234010371
Status : Not Answered
Chosen Option : --

Q4 I G+ HAT MA G T H IT TN, G - H IT MMA G T H I9 (A9 992 G * H 99 M= G 77 H
2 o7 wi, fefifie @@ AT | T H 97 SN2

Vil -J+F=*H
X2 -J % F +H
K3l +J-Fx*H
X4l % J - F+H

uestlon ID: 96234010409

O Status : Not Answered
Chosen Option : --

5 faanre Pt wfanE HHWW
K aNaAy e
v 2 e3a el Q}

X 3. sppel (TS oQQ

X 4 T "5 e

Question ID : 96234010329
Status : Not Answered
Chosen Option : --

Y4, 3) B am (3, -2) g WSt gAY Fe?
X116
v'2 426
X3 424
X 45

Question ID : 96234010389
Status : Not Answered
Chosen Option : --

! AT onfEeE 41 FeEits 99 SEy F4
X . 3B (STTBCe3E




X2 (@ BIGo3S
X3 7=t @6
v i afg fFrremEeEs

Question ID : 96234010328
Status : Not Answered
Chosen Option : --

Q4 Reflection of point (-2, -6) on the Y-axis is:
Ans K1 (-2.6)

X 2 (2.6)

V'3 (2,-6)

X 4 (-6.-2)

uestion ID : 96234010388
Status : Not Answered
N osen Option : --
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Question ID : 96234010425
Status : Answered
Chosen Option: 1

Q4 mwg Fom a5t ™ SEe| Ee AegsfE wes wPe fee awm @t =fte s sEE

00000X, 0000XX, 0D0XXX, 00XXXX, ?
Ans X 1. XXXXXX

& 2. OOXXXXX

Vv 3 OXXXX

X 4 00XXXX

Question ID : 96234010403
Status : Answered




l Chosen Option : 3

Q4 57 @TeT T A @FAF S @6 A7 FA TWE 2,000 | (T BRIG 465 FE T@E @ THE I
AFT (B BEE 2/5 ST A FR Fo b R 2

Ans X 1. 4,000
X 2 %4,250
X 3 %4,750
4 ¥5,000

Question ID : 96234010381
Status : Answered
Chosen Option : 4

Q-s I,J,Kﬂﬁ%Lﬂ$ﬂ§(\3?ﬂS{ﬂTﬁ;LHRIH@WWW@K@&H&IBK?H@W&(E;J:J.H
0 o7 & 3w a?

Ans o WE |
X2 L ags |

V3K am L 0(0

X4 B K
X4 BY 0

*
Question ID : 96234010419

Status : Answered

G Chosen Option : 3
Q.5 12 0 am 24 0 97 e @ EAFEE T ﬁﬂmﬁﬂ?ﬂ% @ am aF 12 v SR

1 w5 afie wye =71 @ 12 0 @ AyRTER @
Ans XT(GK'IS) A Q
X2 (2/15) A QOQ
v (4/15) A Q
X4 (8/15) A

Question ID : 96234010366
Status : Not Answered
Chosen Option : --

W o TAmET fre FFT TF ITed RS 0% 4T T |
Ans “1, 'GIE

X 2 free

X 3 FFm

X 4 ST

Question ID : 96234010351
Status : Answered
Chosen Option : 1
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X 2 ST E
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X 4 Fer
Question ID : 96234010354
Status : Answered
Chosen Option: 1
Q5 A iz a theoretical exact plane, axis or point location that GD & T or dimensional tolerances are referenced to.
4
/< 1. section
W 2 datum
/< 3. flange
/< 4 frame
N\ :
Question ID : 96234010345
Status : Not Answered
N Chosen Option : --
Q.5 wf L oam T o raaﬁ’ﬂw—mmﬂmﬂ a5 T 7 T a7 femsd
S gm W W 97 GeRERT T oW @ T \

X1 R
<2 3R
X 3 9R

v 4 27R OQQ

& Question ID : 96234010367
Status : Not Answered

Chosen Option : --

065 A3fG (T FATAR S AT FAT 2T 15 ISR AT (P IEE (STSEes) T 3; (G T Tl

v 45 356
X 2 15 3TfH
X3 3 3TfA6
K 4 5 3G

Question ID : 96234010361
Status : Answered
Chosen Option : 1

Q5 366 x 4 x 753 a7 AF@F WA Fo

X113




X26
VAN
X a7

Question ID : 96234010377
Status : Not Answered
Chosen Option : --

Q.5 a5t At TS T oEE 95 AEIEE T@ TEEE AEEE GEHE 55 998 BeumE A /4 8w
8 few s g W 4 WG Fer

Ans of 144
X2 48
X3 40
X 4 36

Question ID : 96234010387
Status : Not Answered
Chosen Option : --

Y @fF e, aF @ SRS (meﬁ

Ans off 1. 57,27
X 2. 65,27 C;b‘

Ko Q@

Note: Due to the discrepancy in the content of the transl stion with respect to English,
this question has been evaluated as per the English ve| 8

Chosen Option: 3

Question ID : 96234010337
@ Status : Answered

Q.6 Tve ftaflt TRETE o Jhes Fes AT FAGENE TS

Ans 1 g

2.10
31
4.12

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 96234010418
Status : Answered
Chosen Option : 4

Q.6 Two planes E and F start flying from the same point. E flies 7 km west, then turns to its left and flies 15 km. Meanwhile F
1  flies 11 km east and turns right and flies 15 km. Where is F with respect to E?




Ans of 1. Fis 18 km east of E
/X 2 Fis 4 km east of E

& 3. Fis 4 km west of E
/K 4 Fis 18 km west of E

Question ID : 96234010423
Status : Answered
Chosen Option : 1

Ans X 110,67 fom
V29,23 foE
X< 310,91 fare
X 410,71 foE

Q.6 A am B (@9 F& 15 foed =g FAte AMA, B 9% C S 20 e am A 8 ¢ 10 fam st =g
2 FE| TET AFENE FSG FAE FOOE ©f TEE TP

tion ID : 96234010398
Status : Answered

hosen Option : 2
O
~s

3

Ans x1 E
2.2
2 3.

Q.6 Ifamachine overcomes aload 'L' and the distance travelled by the load is ‘Ld’, the work done by

t%ti}.lbe .

Question ID : 96234010360
Status : Answered
Chosen Option : 4

e K1 o ffeG
X2 9.4 f3fab
X 3 8.6 fifab
v 4 9,6 fifed

Q.6 wyEg H M 998 N SFENGT 48/13 BEEG 9%fE em GESE ©fF $Ae 0 N 2SR GETEIEE o
4 w3 E ¢ REGI M AT 9T EESIGE TEE Fe T AEE?

Question ID : 96234010393
Status : Answered
Chosen Option : 4

(@) ® e )

Ans 1. 400

Q.6 53 GMeA MA@ 36 km/hr 3 1000 m TG FE| CMHANRET T@ J2 AT JeFd FAE@ Fo TF




v 2. 100
< 3300
< 4200

Question ID : 96234010370
Status : Answered
Chosen Option : 2

Ans X 1. 10°C
v 2 30°C
X 3. 34°C
< 4. 20°C

Q6 86°F =

MERSEIEE

Question ID : 96234010352
Status : Answered
Chaosen Option : 2

. )

X2 4 km &
v 8 km TH

X4 4 km =FEr

Qﬂ

Q.6 o3ft frmer fow =T (4 T BF FE TG FE 2 km T TF T=E 47 TR O 5(
7 xm T SRR O TEOE GG FE 6 km TN S WA B NG FE 7 km T
SR A o7 24 G

Ae X1 g km AFS®

Question ID : 96234010422
Status : Answered
Chosen Option : 3

Ans X1 two

/< 2. multiple
3 one

X 4 three

°é6 The effort in a class 1 lever is in

direction(s).

Question ID : 96234010362
Status : Not Answered
Chosen Option : --

Ans x-]_ LAM
V' 2 TESIE

X3 srmafee See

Qéﬁwﬁq@EWWMWWEﬁGwaﬁmechSﬁ Gz




X4 T

Question ID : 96234010357
Status : Answered
Chosen Option : 2

Q.7 An airplane flies at the speed of 50 m/s. How much distance (in km) will it cover in a flight of 5 hours?
0

Ans X 1. 880
v 2 900
X 3 895
< 4 850

Question ID : 96234010384
Status : Answered
Chosen Option : 2

Q7 ; g o 6 0 57 I @EEF @HE KIF E AT 93 TEIG 12V TEEE IF AE 6 0 G

[ESERIE

T @ fFfF FF @
Ans  X'1.3.5 A C)O

X2 0.5 A

X325A Q)
Q}‘b

V415 A \
& Question ID : 96234010374

Status : Not Answered

@ Chosen Option : --

®7 If% 5050 x 0.5x = 2525 2505:x2 = ?
Ans X 1.0.2505 Q

X 2 250.5

X 3 2,505

v 2 25.05

Question ID : 96234010378
Status : Answered
Chosen Option : 4

°é7 996 WA @t 50 99 (WE Tebl (G 84 T (A ©wbR FAI WA Fo ?

Ans X 1. 68
v 2 67
X 3 65
X 4 66

Question ID : 96234010386
Status : Answered
Chosen Option : 2




Q.7 an object starts from rest at x = 0 m and moves with a constant acceleration of 1.6 m/s® along the x-axis. During its journey
4 fromx=12.8mtox=20.0m, itsaverage velocity will be

Ans X 1. 2.4 m/fs
X< 2 8.8m/s
K 3 3.6ms
v 4 72mls

Question ID : 96234010363
Status : Not Answered
Chosen Option : --

Q.7 Given below is a statement followed by two assumptions numbered I and II. You have to decide which of the assumptions
5 is/are implicit in the statement.

Statement: The human body produces Vitamin D when exposed to sunlight.

Assumption I: The human body will have Vitamin D even if it is not consumed via food.
Assumption II: A large portion of the global population suffers from Vitamin D deficiency.

Ans 1. Only assumption II is implicit

+ 2. Only assumption I is implicit @

/< 3. Neither I nor IT is implicit 0

/< 4 BothI and II are implicit ()

*
T4 !
Question ID : 96234010424
Status : Answered
\ Chosen Option : 4
Q7 10 0 a3t 20 0 97 9 @ @G WIF WE AT 93 V (OIF6s NHASIES Y TS

AE| 10 O @ IFT (OH0 7T FF|

Ans x1.5 \/ QQ
X220V @)

X315V Q«

V410 v

Question ID : 96234010373

Chosen Option : --

Status : Not Attempted and Marked For Review

Q.7 fam amg oft Fafs 9% sepye oft S, | A=k 1 S A9 efe ey 9w s 3w fie
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FAE T (FEE A (FESF me FEfesfte s FAm

s 1 == vogw TTgs A7 |
fgfe 2: 7= wzga % w9 |

Teoteard 1 feg @97 29 pggs |
TepiaE I [ wEY o 929w |

At X1 TEF | A I SR
V2 BEFE TR NI SIS S
X 3 B SR | SE S
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Question ID : 96234010410
Status : Answered
Chosen Option : 2

Y o’ fRaft fom @ 9% @@ @@ o

Ans

X110

v:| 7

X 3

00(0
X gg (13%’
>

« Question ID : 96234010421
@ Status : Answered
Q Chosen Option: 2

% e A wE e
e X A

v 2. STy

X 3 S-SEefEamsy

X 4. S-SRI

qE N/ P4l 2|

Question ID : 96234010339
Status : Answered
Chosen Option : 2

Qésﬁm@@wﬁ(wmw@w,%ﬁﬁwammmmmemﬁW?
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Ans




Question ID : 96234010414
Status : Answered
Chosen Option : 1

%% IBEEE (UNESCO) vd WIF (ST SEHEe?

Ans

v . sfEs

X 2. (&Sl 0(0

X3 3% 3¢ e O
X 4 aqfAsts B (io)‘

Question ID : 96234010333

\ Status : Answered
Chosen Option : 3

Q.8

Ans

2

In the following figure, square represents Chinese, Q

triangle represents dancers, circle represents
and rectangle represents architects. Whu:h
letters represents dancers who are %ﬁ

C

D/E
A H

X 1. IGH
v 2 GEF
X 3. DEF
X 4 DEIG

Question ID : 96234010413
Status : Answered
Chosen Option: 2

Q.8




95 Frews @ea (w1 AFEMEer 109 J/s m K) TE TG (Ba%a 29 0.04 m? a9 @57 20 em |
200°C AT BPEIE THF FOF P OTE FONF FWT AE, FOA ARG T TEEE IE I

Ans X 1.3.42 kJ/s
X 2 5,80 kJ/s
'3 4,36 kJ/s
K4 2.32 kI/s

Question ID : 96234010365
Status : Not Answered
Chosen Option : --

Q8 T g% TEA MW 2 T 10,000 T 1,449 T, THE TR T Fo?
Ans 1. 6%

X 2 8%

X3 1%

7%

S
0 Question ID : 96234010385

Status : Not Answered
Chosen Option : --

P

4
e gftix = V125 XV30X4/6. BE x FE SAE:

. X1 N
CeE O
v 3 150 Q’

X 4175 QQ

@ Question ID : 96234010397
Status : Not Answered
Chosen Option : --

L ok TImEG fffe FFT I@ Smed ETET 8% 4T @ |
Ans of 1. AFTCRTR

X 2 G

X 3. Prea

X 4 I

Question ID : 96234010350
Status : Answered
Chosen Option : 1

P P oo e oSl oh wfew AW = gm 9w ew|
Ans X 1. FLOW
X 2. ERTIG




X 3. ILNO
v 4 wWco

Question ID : 96234010412
Status : Not Answered
Chosen Option : --

0.8 o - - . " .
¢ The abbreviation AC in an engineering drawing stands for .
Ans 3 1. Air Conditioning
/< 2. Aerial Cut

\f 3. Across Corners
/< 4 Attached Circle
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Q.9 Ifthe width of a standard engineering drawing sheet is 841 mm, then its length would be
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Q.9 Given below are some letters, that each of these letters has a corresponding number. Select the combination of numbers from the
9 options so that the jumbled letters arranged accordingly will form a meaningful English word.
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Section : Heat Engine

Q-1 (Clearance between mating parts is measured by - Choose the correct option

Ans % 1. Dial gauge
/< 2. Caliper gauge
/< 3. “Go” gauge
« 4 Feeler gauge
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Q-2 The diesel engine usually emits excessive smoke during — Choose the cotrect option.




